Spiel 1 Spiel 2 ~ Gesamt

Spielo1  15:08|A1 HINTERSTEINER Gerhard 55 + 53 = 108
A2 JURKOWITSCH Pascal 47 + 56 = 103|#
Spiel03  15:24|A3 HARUCKSTEINER Thomas| 58 + 50 = 108|# #
A4 SPINDELBERGER Gerhard| 40 + 54 = 94|# #
Spiel0s  15:41|A5 HAHN Ernst 64 + 53 = 117{0
A1 HINTERSTEINER Gerhard 52 + 57 = 109|# O #
Spielo7  15:59|A 2 JURKOWITSCH Pascal 48 + 41 = 89|#
A3 HARUCKSTEINER Thomas| 59 + 55 = 114|#
Spiel09  16:14|A4 SPINDELBERGER Gerhard| 46 + 51 = 97|0
A5 HAHN Ernst 53 + 56 = 109|0
Spiel11 16:32|A 1 HINTERSTEINER Gerhard 52 + 56 = 108|# #
A3 HARUCKSTEINER Thomas| 45 + 54 = 99|#
Spiel 13 16:49|A 2 JURKOWITSCH Pascal 56 + 52 = 108|#
A4 SPINDELBERGER Gerhard| 54 + 57 = 111|# #
Spiel15  17:06/A3 HARUCKSTEINER Thomas| 59 + 54 = 113
A5 HAHN Ernst 56 + 68 = 1240 #0
Spiel 17 17:25|A 4 SPINDELBERGER Gerhard| 50 + 39 = 89
A1 HINTERSTEINER Gerhard 46 + 49 = 95
Spiel 19 17:43|A5 HAHN Ernst 65 + 56 = 121|# # #
A2 JURKOWITSCH Pascal 46 + 59 = 105|0 #0




